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Chapter 8 Review
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1. Consider the following functions and determine the following properties.
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a) Determine the x and y intercepts
for the function.
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for the function.
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c¢) State the domain and range.
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d) Express the equation as a
piecewise function.
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c) State the domain and range.
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d) Express the equation as a
piecewise function.
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2. Graph the following absolute value functions.
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3. Solve the following absolute value equations algebraically
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4. Solve the following absolute value equations graphically
a) fx—2|=1 b) |[-2x+1|=2x-5
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asymptotes and the domain & range. \

1
x) = /
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Vertical Asymptote: X=1.S
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5. Graph each of the following reciprocal functions and state the equation oge vertical\&xh_o[iéontal
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6. Graph the following functions and their reciprocals. State the equations of all asymptotes.
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7. Given the graph of the following reciprocal function determine the equation of the original function.
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